AEIrMATIKO EZETAZTIKO AOKIMIO OAYMMNIAAA THZ
MOAITIKHZ OIKONOMIAZ (OIKONOMIKQN)
SAMPLE ASSESSMENT MATERIAL FOR OLYMPIAD

A clothing company has FC = 20 000, AVC =44,
The production level is 2000 units.
The Average Total Cost is:

A 32
B 64
C 54
D 10

Mia emixeipnon Tmapaywyng £Toigwy evoupdTtwy éxel FC = 20000,
AVC = 44.
H mmapaywyn gival 2000 povadeg.

To Méoo ZuvoAiké KOOTOG gival:

A 32
B 64
r 54
A 10

Rent for premises is a

A Fixed Cost

B Variable Cost

C Semi-variable cost
D Proportional cost

Ta evoikia Twv KTnpiwv givai:

2T00ePO6 KOOTOG
MeTaBANTO KOOTOG
HuipetaBANTO KOOTOG
AvaAoyikd KOOTOG

> w >

The purchase of raw materials is

a proportional variable cost
a decreasing variable cost

an increasing variable cost
a fixed cost

oOOw>



H ayopd mTpwTtwyv VAWV gival:

METARANTS avaloyikd €600
METABANTS @Bivwy ££0d0
METARANTS augwyv £€6000
o1aBepd £¢0d0

> w >

Company X has explicit cost 50 000, economic profit 10 000 and total
revenue 80 000.

The implicit cost is

A 2 000
B 15 000
C 10 000
D 20 000

21NV eTmixeipnon X ta gavepd £¢oda ival 50000, To 0IKOVOUIKO KEPDOG
10000 kai Ta cuvoAika €coda 80000.

To agavég KOOTOG gival:

A 2000

B 15000
C 10000
D 20000

When MC is greater than AC, AC

A decreases

B increases

C remains the same
D maximises

Ortav 10 MC ¢ival peyaAuTepo atro 1o AC, 1o AC:

MEIWVETAI
augaverai
TTapapével 1o idlo
MEYIOTOTTOIEITAI

> w >




When MC is equal to AC, AC

A decreases
B minimises
C increases

D maximises

Ortav 1o MC ¢ivail ioo pye To AC, 10 AC:

A MEIWVETAI

B eAaxioToTTOIEITAI
r augavetal

A MEYIOTOTTOIEITAI

At the point of intersection of the marginal cost and average total cost
curves, the business achieves:

the optimum level of production
the maximum total cost

the maximum marginal cost
the maximum total profit

o0Ow>

2TO ONMEIO TOPAG TWV KAPTTUAWY TOU OPIOKOU Kal JEGOU GUVOAIKOU
KOOTOUG N ETTIXEIPNON ETTITUYXAVEL:

TNV ATTOTEAEOUATIKI) KAiJOKA TTAPAYWYAS
TO MEYIOTO OUVOAIKO KOOTOG

TO MEYIOTO OPIAKO KOOTOG

TO MEYIOTO OUVOAIKG KEPDOG

> w >

If the price elasticity of demand of a good is 2 and the price falls by
40%, quantity demanded will increase by

A 80%
B 40%
C 8%
D 20%



Av n eAaoTIKOTNTA {ATNONG £VOG ayaBou gival 2 Kal n TIUA PHEIWVETA
Katd 40%, n {nToupevn TToocdTNTA B0 AugnBEi:

A 80%
B 40%
r 8%
A 20%

For goods that have a price inelastic demand, an increase in price

causes an increase in total spending
causes a decrease in total spending
does not cause any change

can cause an increase and a decrease

oOOw>

210 ayaBd aveAaoTIKAG ¢TNONG, N augnon TNG TIUAG TTPOKAAEI:

au¢non 2.A

peiwon Z.A

KAMIG METABOAN

MTTOPEI va TTPOKAAETEN KAl augnon Kal heiwon

> w >

10.

10.

According to the law of demand, when price increases, quantity
demanded

A increases

B decreases

C does not change
D becomes zero

2UP@WVA JE TO VOUO TNG ZATNONG OTav augaveTal N TIuA N ZnToUEvN
TTooOTNTA:

augaverai
MEIWVETAI

dev eTTnpeddeTal
pNdeviceTal

> w >




11.

11.

12.

12.

A change in price on perfectly inelastic goods would make consumers

to:

o0Ow>

Increase Quantity Demanded

Decrease Quantity Demanded

Quantity Demanded to remain unchanged
Quantity Demanded to be equal to 0

210 ayaBd TTAApwG aveAaoTIKNG TNONG O€ YIa HETABOAN TNG TIUAG Ol
KATAVOAWTEG:

A

B
r
A

augdavouv Tnv Zntouuevn MNoodtnTa
MEIWVOUV TNV ZnTtoupevn MNoooTtnTa
n Zntoupevn MNoodTtnTa TTapauével n idia
n Zntoupevn Moodtnta pndevieTal

The production function shows the relationship between the output that
can be produced at a given time and:

oO0Ow>

The Factors of Production
The Total Cost

The Explicit cost

The Variable Cost

H ouvdptnon Tapaywyng ekepdadlel Tn oxéon TIOU OUVOEEl TNV
TTO0OTNTA TOU TTPOIOVTOG, TTOU PTTOPEI va TTapaxOei 0€ OpIOPEVO XPOVO

ME:

> wm >

TIG TTOOOTNTEG TWV CUVTEAECTWY TTAPAYWYAS
TO OUVOAIKO KOOTOG

TO QavePd KOOTOG

TO METARANTS KOOTOG

13.

A firm employs 4 workers and produces 20000 units of output. What's
the Marginal product if the output increases to 26000 units following the
employment of an additional worker?

o0 >

5200
5000
6000
4000



13.

14.

14.

2€ JIa €TTIXEIPNON N TTapaywyr otoug 4 gpyareg ival 20000 evw oToug
5 epyareg gival 26000. To opiakd TTPOIOV OTO TTEUTITO EPYATN Eival:

A 5200
B 5000
r 6000
A 4000

Using the following data, find the breakeven point of a competitive firm:
Price = €20

FC =€10000
AVC = €10
A 100

B 10

C 1000
D 10000

Ta 17010 KATW dEDOUEVA AVOPEPOVTAl OE MIA AVTAYWVIOTIKN ETTIXEIPNON:
P =€20, FC=10000, AVC=10

To vekpod onueio o€ povadeg eivai:

A 100

B 10

r 1000
A 10000

15.

15.

The aim of a business is to:

Maximise economic profit
Maximise total revenue
Maximise normal profit
Maximise accounting profit

(U @R

2TOX0G KAB¢e eTTIXEipNONG €ival:

A N UEYIOTOTTOINON TOU OIKOVOUIKOU KEPOOUG
B N MEYIOTOTTOINON TWV CUVOAIKWY £000WV

r N MEYIOTOTTOINGN TOU QUOIOAOYIKOU KEPDOUG
A N MEYIOTOTTOINGN TOU AOYIOTIKOU KEPOOUG




16.

16.

What happens to the Price under perfect competition?

A Increases

B Remains constant

C Decreases

D It may increase or decrease

210V TTAN PN N TEAEIO avTaywviouo n Tiun eivai:

A augaverai

B o1abepr| (0edopévn)

r MEIWVETAI

A MTTOPEI va augnBei i va pelwBei

17.

17.

Find the correct equation regarding FC, VC and TC:

A TC=FC+ AVC
B TC=FC-VC
C FC=TC-VC
D VC=TC+FC

H opBn oxéon civai:

A TC=FC+AVC
B TC=FC-VC
r FC=TC-VC
A VC=TC+FC

18.

The Net Domestic Product is smaller than the Gross Domestic Product
by:

The amount of indirect taxes
The amount of financial grants
The Net Income from abroad
The amount of total depreciation

o0 w>



18.

To kaBapd eyxwpio TTPOIGV gival HIKPOTEPO ATTO TO AKABAPIOTO EYXWPEIO
TTPoI6V KaTA:

A TO UWOG TWV EPUECWV POPWV

B TO UYOG TWV ETTIBOTACEWV

r TO KABAPO €100dNUA ATTO TO EGWTEPIKO
A TO UWOG TWV CUVOAIKWY ATTOORECEWV

19.

19.

20.

20.

To calculate Gross Domestic Product using the Value-Added
Approach:

Add up the final and intermediate goods

Add up the cost of inputs used in production

Add up the consumers’ expenditure

Add up the total value added at all stages of production

(U @R

MNa va uttoAoyiooupe T0 aKABAPTO EyXWPIO TTPOIOV PE TNV PEBODO TNG
TTPOOTIOEPEVNG agiag:

A aBpoifoupue Ta TEAIKG Kal Ta evdidueoa ayabd

B aBp0oiCoupE TIG APOIBEG TWV CUVTEAECTWY TTAPAYWYNAG TTOU
XPNOIUOTToINBnKav TNV TTapaywyn

r aBpoifoupe OAEG TIG BATTAVEG TWV KATAVAAWTWV

A aBpoifoupe OAEG TIG agieg TTou dnuioupyouvTal KAaTd TNV dIAPKEIX

TNG TTAPAYWYNG oTa dIAPOPa OTAdIA TTAPAYWYNS TWV TTPOIOVTWY

Firms belong in different market structures based on:

A The degree of competition

B Their sales

C Their purchases

D The level of interdependence

H katdragn Twv emMXEIPHOEWV O€ DIAPOPES HOPPES AYOPAC YiVETAI UE
KPITApPIO:

T0 BaBud avraywviouou
TIC TTWANOEIG

TIG AYOPEG

TNV aAANAeEGpPTNON

> w >




21.

21.

During the phase of recession or downturn of an economic cycle, there

is:
A An increase in Investments
B An increase in Employment
C An improvement in Incomes

An extended unemployment

21N @Aon TG KaBddou 1) UPeoNG EVOG OIKOVOUIKOU KUKAOU
TTapaTnpEiTal:

A augnon Twv TEVOUCEWV

B augnon TnG atraoXoAnong
r BeAtiwon Twv e1I00dNUaTWY
A EKTETAPEVN avepyia

22.

22.

23.

When the average level of prices increases:

A The real income falls

B The real income increases

C The money income falls

D The nominal income increases

Otav au&dvetal To YeVIKO €TTITTEDO TINWV:

TO TTPAYMATIKO £1000NUA PEIWVETAI
TO TTPAYMATIKO €1000NUa autaveTal
TO XPNMOTIKO €100dNUA PEIWVETAI

QUEAVETAI TO OVOUAOTIKO €£100dNHa

> w >

In an economy, the amount of employed people is 48000, the amount
of the unemployed is 12000, the amount of the retired is 5000 and the
amount of the idle is 4000. The unemployment rate is equal to:

A 20%

B 26.6%
C 21.05%
D 35%



23.  Z& Jia oikovopia ol atragyxoAouuevol gival 48000, o1 avepyor 12000, ol
agpyol 4000 kai o1 ouvtagiouxol 5000. To TToo00Td avepyiag ivai:
A 20%
B 26,60%
r 21,05%
A 35%
24.  If the fiscal policy is used to deal with unemployment:
A Technological unemployment will decrease
B Frictional unemployment will decrease
C Cyclical unemployment will decrease
D Seasonal unemployment will decrease
24.  Ta dnUOOCIOVOUIKA PETPA KATA TNG AVEPYIAG UEIWVOUV:
A TNV TEXVOAOYIKNA avepyia
B TNV avepyia TPIBAS
r TNV KUKAIKA avepyia
A TNV €TTOXIKNA avepyia
25. At zero units of production, the marginal cost is equal to:
A Zero
B Infinity
C Unitary
D Zero or infinity
25.  To opiakod KOOTOG OTIG NOEV JOVADEG TTAPAYWYNG Eival:

A MNOEV

B AaTreIpo

r Movada

A MNoEv 1 arreipo



